
SP-IN-X-X





IMPORTANT: Cap OFF all unused LEADS.
ORG lead is for programming only.
PUR(+) & GRY(-) leads are for 0-10V dimming only.
FAILURE to install MOV surge protector voids Driver & Fixture warranty.
SEE MANUFACTURER’S MOV INCLUDED INSTRUCTIONS.

P5-L3/P5-L6



IMPORTANT: Cap OFF all unused LEADS.
ORG lead is for programming only.
PUR(+) & GRY(-) leads are for 0-10V dimming only.
FAILURE to install MOV surge protector voids Driver & Fixture warranty.
SEE MANUFACTURER’S MOV INCLUDED INSTRUCTIONS.

P5-L8/P5-L12



 www.ChameleonLTG.com                                               info@ChameleonLTG.com   Email

INSTALLATION INSTRUCTION FOR
CLADDING KIT:
SP-CYL-X CLADDING KIT AND SIMILAR

WARNING: Risk of fire and electric shock! This
fixture must be installed by a qualified electrician
only! MAKE SURE ELECTRICAL CURRENT IS
DISCONNECTED BEFORE KIT
INSTALLATION

DISCONNECT POWER

1. UNWRAP ALL FIXTURE COMPONENTS
INCLUDING SMALL PARTS BAG ENCLOSED.

PARTS LIST:
(1) C610 CHAMELEON CAN
(1) CHAMELEON SPREADER
(3) M3 X 10MM SCREWS
(3) 8-32 X ½” THUMB SCREWS

2. SLIP SPREADER AROUND POWERCORD AND
REST ON TOP OF HEATSINK. SECURE
SPREADER TO HEATSINK WITH (3) M3 X 10MM
SCREWS.

3. RAISE C610 CHAMELEON CAN OVER
HEATSINK AND ALIGN WITH PEMSERTS IN
THE LONGER ARMS OF THE SPREADER.

4. SECURE C610 CHAMELEON CAN TO
SPREADER WITH (3) 8-32 X ½” THUMB
SCREWS.

RECONNECT POWER

INSTALLATION INSTRUCTION FOR SP-CYL-X SHADE

WARNING: Risk of fire and electric shock! This fixture
must be installed by a qualified electrician only! MAKE 
SURE ELECTRICAL CURRENT IS DISCONNECTED 
BEFORE KIT INSTALLATION

DISCONNECT POWER - INSTALL P5 PENDANT. 
FOLLOW SUPPLIED INSTRUCTIONS.

1. UNWRAP ALL FIXTURE COMPONENTS INCLUDING
SMALL PARTS BAG ENCLOSED.

PARTS LIST: CYL-X SHADE
 (1) CHAMELEON CYLINDER
(1) CHAMELEON P59 SPREADER 
(3) M3 X 10MM SCREWS
(3) 8-32 X ½”  SCREWS

2. SLIP SPREADER AROUND P5 POWERCORD AND
REST ON TOP OF HEATSINK. SECURE SPREADER TO
HEATSINK WITH (3) M3 X 10MM SCREWS. 

3. RAISE CYLINDER OVER HEATSINK
AND ALIGN WITH PEMSERTS IN THE LONGER ARMS
OF THE SPREADER.

4. SECURE CYLINDER TO SPREADER
LOWER TABS WITH (3) 8-32 X ½”  SCREWS. 

RECONNECT POWER




